Unit 4 Test Corrections: Electrons and EMR


Name__________________________Period______
Test Grade: ________   Also Need Retest?   Y   /   N
1.  Complete the following table.
	Lewis Dot
Cl
	Orbital Notation



	
	Electron Configuration
	Noble Gas Configuration

	Lewis Dot

N
	Orbital Notation



	
	Electron Configuration
	Noble Gas Configuration

	NO Lewis Dot

Ti
	Orbital Notation



	
	Electron Configuration
	Noble Gas Configuration
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2.  What is the difference between an atom in the ground state and the excited state?

3. Identify the element and if it in excited or ground state. Then highlight the valence electrons. 
	Element
	Electron configuration
	Ground state or excited state?

	
	1s22s22p63s23p1  
	

	
	[Ar]4s23d8

	

	
	1s22s22p63s23p64s1
	


4.  How many total electrons are needed to fill:

a) the first energy level?
 ____
    b) the second energy level? ____
c) the third energy level? ____
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5.  You have two waves: 
Wave A:

Wave B:

6.  
Label the empty EMR waves and also circle the corresponding description.
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Circle the correct answer for each question below:


a.   Which has higher energy?




Radio   
or      
Microwave


b.   Which has lower frequency?  



red
or 
purple


c.   Which has the longer wavelength?  


UV 
or 
Gamma
7.
a) Frequency and wavelength are ________________ proportional. This means when f goes up, λ goes ________. 






            (directly/indirectly)                 


  
             (up/down)
b) Energy and frequency are _________________ proportional. This means when E goes down, f goes ________. 

         



     (directly/indirectly)                 


  
             (up/down)
c) Wavelength and energy are _________________ proportional. This means when λ goes down, E goes ___________.

           

 

      (directly/indirectly)                 


  
                  (up/down)
Use the GUESS method to solve the math problems below, using the GUESS boxes on the back of this page. Check your answers against the answer shown below each problem.
8.  A certain photon of light has a wavelength of 1.73 x 10-4 m. What is the frequency of this light? 

9.  A photon has a wavelength of 2.78x10-9 m. What is the energy of this photon?

10.  A certain color of light has a frequency of 7.87 x 1014 Hz. What is the energy of this light?

11. A photon of light has a frequency of 1.92 x 1018 Hz. What is the wavelength of this photon?
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a)  Which wave has a shorter wavelength? _______________


b)  Which wave has a lower frequency?   _______________


c)  Which wave has a higher energy?           _______________





c.  Which wave has a greater energy?





long   or   short    ʎ


low    or   high      f


low    or   high      E





long   or   short    ʎ


low    or   high      f


low    or   high      E








